Name: Date:
Topic: Class:
Main Ideas/Questions | Notes/Examples
e Sum of twe Side WMeagwres  avtund o
PERIMETER [two - dimencional Rguve .
Directions: Find the perimeter of each figure.
1. . 2. <2 1'3\.‘-
g 0= %(a) T g (z(\w)
T T — 7.3m
: o = = % = 168m 0 [P=48.2m
3 16 mm 4
P=201) + ' -
2(21,g) - y P=40o 34
27.5 mm yd
= &lmm
8yd
3 P= 5] z . . 12.5m =
%)/\\k 2. D v f= 34 .Zy;ﬂ
9m
6-;-in 37m
AREA  (The 0 a
Wwo- dimensional fawure .
ﬂfeﬂ 0{‘ 28 Te: Directions: Find the area of eoch‘figure.
ki " ——1 A=5% > 8.1in 2
[A':’ Sz } 1 --5m]; » A= 8.1
=25m
B i
firea of aRectangle: 9‘J o A=8-Y4 R A= 1S (6.2)
4 11.5¢cm
[B: ﬂ‘w ] u E] "E\=52.C+7- 0 [ A=N.3 emn?
138 62cm
freaof aPraeogram: | ' A= q(s3) | A=1301)
\ ' 25 1t
5.3 km y |1 A= 14
[ A=b.f\' ] i;:k \A"’ 1.7 \(m’j """"" 3 8
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13. 14.
A= 2.6((-5) \ \
9.5 mi —
8.6m[7] n:.ss'q mz Isr-l
8.4m A= 15 (g b’)
A= 129 iz
15. 16.
frea of alriange: , 145in
17 ft 10in
[ﬂ==%i¥r‘\J 2 10.5in
140 A=< (|0-5)(|°)
=119 p42 ‘A'=SZ‘53n?‘
17. 18.
9.8 yd
18.5mm 13.0 mm A & (q 9(33 "\
2 ‘ '
17.2 mm o 3vd 1A= {404 ﬁdz
A= (18.9013.D
#=12).11S mm2)
L 5.5m & 241t
frea of aTrapezoid: sam/ i
{7m . 26 ft
[A N .\iﬂbl."bll] IZI:I7 m !
393t

A=ZID(55+13.1)
A=(35)14.2 Y=|¢7.2 m2

A=F (2D(24 4 39.3)
A= 10.-5(62.2 ) 3|l L5 M2

21.

é6cm

9.2 cm§ 10cm

=
14cm

A= L (9-2)04 1)

A=(4.0) (20) =42 o2 ]

22. .
20.5in

7.2in
24.8in
27 in

A=%(206X71-2+ 249
A=(0.26)(32) =[328in?]
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Name: Date:
Topic: Class:
Main Ideas/Questions | Notes/Examples
1. Mrs. Mank is decorating a 4-foot 2. Brett warmed up for his basketball
by 9-foot bulletin board in her game by running around the court
PERIMETER classroom. If she decides to put a three times. If the court is 84 feet
purple border around the entire by 50 feet, how many feet did he
Applicalions board, what is the length of border | jog?
that she needs?
P= 2(s4) +2(sD)
P=20H+2(a) P =168 + 1O
P =g+19 P = 20L%
=208 208 (2) =|Qo4 P¥
3. Kate likes to run aroute in town 4. The perimeter of a rectangular
that forms a triangle shown below. playground is 86 feet. If the width
How many times would she need of the playground is 15 feet, find
to run this route to complete 12 the length.
iles?
mies By =12 0= 2(I5)+2L
1.4 mi T W=3+24
0.7 mi X= q ‘hM -
5b=24
0.9 mi E‘ =
P= &mi {=28 P+
5. How much fabric is needed to é. Find the width of a rectangular
create the sail below? patio with a length of 16 feet and
ARE A - an area of 200 square feet.
9f .
Applcalions il fi= LW
\ooo/ 200 = tbw
T
A= (a)14)
= w=12.5 H
A= 03 42
7. Ryan is having carpet installed in 8. A town in the shape of a irapezoid
his 30-foot by 18-foot family room. has is shown below. If the
If the carpet is $2.25 per square population of the town is 28,000
foot, how much will it cost him? people, find the number of people
ﬂ-" 30(,\8) = 540542 per square mile. )
_12mi R=Z04)(1242))
A=23( m?
540(2.25) 14 mi 16.6 i ‘

=1_l2l5 H 21 mi %#ll\p&ﬂ
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MIXED
PRACTICE

9. Hannah just put a 36-foot long

fence around her rectangular
garden. What is the length of the
garden if it is 12 feet wide?

3b=2012) + 2«4
3 =24 +22
12724

2 2

Prm—

= U &

10. Dave is adding a new patio to the
back of his house. The dimensions
of the patio are shown below. If
one bag of concrete mix will
cover 50 square feet, how many
bags of concrete will he need?

16.2 ft

A= 1L2012) = l‘H.fl 42

a4 - 3¢9

11. A campground covers their
rectangular-shaped pool each
winter. If the area of the cover is
333.5 square feet, and the pool is
23 feet long, find the width.

3335 = 23 (W)
23 23
14.5F+= W

12. A fence is being built crounééc

small park. How many feet of
fence will be needed to surround
the park?e

21 1t

0
IB+21+18429 =

Sl F+

13. The dimensions of a city park are
shown below. Sam just jogged
around the park twice. How
many miles did he jog?

1.7 mi

3.6 mi

201 M +2(26)= 10k

2010 b) =[21.2 mi

14. Ella is making a corner bench
seat. She plans to outline the seat
cushion in a decorative ribbon.
How much ribbon will she need?

6.25 ft
3.6t

481t

3. +4-€+ b-25 =

[H. 5Fy]

15. Rachel is making a tent. The
friangular piece of fabric for the
front of her tent has an area of 24
square feet. Find the height of the
fabric if it is 6 feet long at its base.

3 (b) (W) = 24
3h=2
z 3

h=¢ 4

1. Marina is making a cake in a pan
shaped like the one below. One
can of frosting will cover 40 square
inches of cake. How many cans of
frosting will she need?

 A=E@H-24 49
= (4818
. =gu.15

14.5in

415 _ .

4.2in
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Name:

Date:

Unit 7: Measurement (Area and Volume)

Per: Homework 1: Perimeter & Area

** This is a 2-page document! **

Directions: Find the perimeter and area of each figure.

Perimeter Area
CETO | feHm A=
4 T =[-8 m] =[17. 14 m?]
1, O
5 42m
- - P=202) +2(5) A= 125)
12in
3.
P=a+ 2L6:5) A =3 (a)(H-1)
7% 651t :iZZ_-P‘]’ :E_L 5 £+
6.5 ft
P= 204+ 2(3/4) A= Yl(z.2)
= |14/ om = |A2em?2
Y T P=2(0-L)+ 2(0.9) A= 0.b(0-8)
0.8m =ngf = oqgml
1 []
0.6m
= P=3+5+ L-8+4.] A=+ (38)(3408)

=189 in

-18.b2in2
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7.
ava_—7' P=0+2(5.7) A= % 61)(55)
:5.5yd .
S =|20.4 yd| (15675 yd 2
. P= T+5+A+]] =5 (1) (5+1)

9. Abraham is fencing in his rectangular
backyard. His yard is 42 feet wide and 50 feet
long. How many feet of fencing will he need?

P=2(422( 5p)
134 £+ |

—
—

10. Shelly is putting a child safety fence around
the edge of her swimming pool. If the
company charges $15 per foot, how much

will she pay? =254+ 2(¢)
25 ft
. = 14
16t 16 ft
71 \5(4) = 1@

11. Brent's neighborhood is putting down new
mulch at the playground and he is in charge
of buying the mulch. One bag covers 3
square yards. How many bags will h€ need?

I9yd§ = 580 9d2
0.
20 yd
§@=m¢5

[121bags ]

12. Greg uses a triangular area of his backyard as
a garden. If the area of his backyard is 1,248
square feet, what is the area of the garden?

16 ft

J 24

-

521
|24 =52-W
24=w

A=3 (10)(24)
1472 £4+2

—_
-

13. The map below shows Juan's bike path. How
many times would Juan need to bike this path
in order to reach a distance of 30 miles?

P= Ll (‘2) 1.2mi
30 - .25
4.8 |
bHmes |

14 Karl is replacing his concrete driveway with
© rectangular pavers. Each paver has an area
of 4.5 square feet. Karl's driveway is 21 feet
long andI§ feet wide. How many pavers will

he need?
A= 18(21) = 378 P12

r"} pavers

312
L*
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Name:

Date:

Topic: Class:
Main Ideas/Questions | Notes/Examples
CIRCLE L&ML@QL&\SA@MMMM%M
point Called the center
PARTS OF Center The given point in whidh all PD\VHS
ACIRCLE |ave th¢ same distance fom-
=y Radivs, 7 The dictance Hrom e fenter
\@bé’ ann powt on the cirele-
U Diameter. - T¢ distanee awrss tre cueke +h
™ Cender. The diameder 1S twice the mdius. @5
ﬂ , | | ¢ I FORMULA:
CIRCUMFERENCE | pevimeter of a civrle. C=2Tr
OF A CIRCLE Find the circumference of each circle. Use 3.14 for pi.

1.@ 2. li
C=2TT5 0= 2119
= 10(3.14) =(3H)
=32.4em =[60.24 yd |
3.. 4. l&
C=21m2 C=Zmy
= 4 (2.14) =28(3.14)
=(12.50 £+ =819z m

® Gina Wilson [All Things Algebra®), 2018
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<

C=2113.2 C=2TT .S
= b4 (3.14) = 13(3.14)
=\?B.O‘1lo'\f\ =|4HD0-RZ km
7. E 8.
€= 21718 C=21T12.5
=15.0 (3-14) =25 (3.14)
=143.984 cm =\71%.5m

A Semicirde is one-half of a civle-

QEMI-OIQCLEQ Find the circumference each semicircle. Use 3.14 for pi.
9. 10.
Steps: D,
DFind half of
e eirCumference: 4ft
P
2 add e C=5(2Ty) + 8 C=32(2m) + 22
{ i = L 14) 4+
diameter : L} Caf"}) +g (3 ), 22
,J’Z).5(0 £+ =|5u.5% in
11. Find the distance a wheel with a 12. If the minute hand on the clock
diameter of 28 centimeters would below has a radius of 7.5 inches,
ADDLIO ATIO“Q travel in one revolution. how far will the hand travel in a

C= 27T 4
= 2% (2.4)

=(g1.2 cm]

24-hour day? ‘
AR €227 7.5

/10 Y

{0 g =) 5(3.14)

t“.s N 5
“163 =47

24(4.)) =

1130.4 iy |
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Name:

Date: Per:

Unit 7: Measurement (Area and Volume)

Homework 2: Circumference of Circles

** This is a 2-page document! **

Directions Find the circumference of each circle Use 3.14 for pi.

C=21TT3 C=210
= (3.14) =12(3.14)
-(\&=4in | *[37-us yd |
¢c= 21Ty C=2n 12
= € (3-14) = 24 (3.14)
=[25.12 $+ ={15.30 yd |
C=21r4.2 C=2T.5
= 2-4(3.14) = 15(3.14)
20.370 in =471 m
Directions: Find the perimeter of each circle. Use 3 14 for pi.
C= %(ZTr ls) 4 23 @ 2(2T19) + 30
STz s(a) +23 = B(3.19) +3,,
=|59.11 cm | =[1252in
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9.

L

e,
1.6 ft

C=5(2mwiL) + 3.2
lL(3.44) 3.2
={3.224 £+

10. 42 mm
 oncmescen e—

N

C=3 (2m21) 142
= 21(314) +42
=107 94 mm

11. Addie decorates round cake trays. She is
putting ribbon around a cake tray that has a
diameter of 18 inches. How long does the
ribbon need to be?

= 21
= \g(3-14)
=[56:52in

12. Sam owns a restaurant that specializes in
caizones. What is the perimeter of the largest

calzone?
H_I

8in

C=3 (21%) +1b
=Q(3.4) +1b

=]'il.\?_ in

13. A landscaping company is putting smail
stones around a circular fish pond with a
diameter of 5.5 yards. If each bag of stones
fills a distance of 4 yards, how many bags do
they need?

(=155
=5.5(3.14)
= 11.27 vd

.27 .. ‘
T 4.21715 5 bags

14. Regina is tying a bow around a soccer ball to
give to her sister. The ball has a radius of 4.5
inches. If the ribbon needs to be 10 inches
longer than the circumference of the ball so
she has enough room to tie a bow, how
many inches of ribbon will she need?2

C=21T45
=q(3.14)
=2%.20

3%-2l N

15. Dan is putting a fence around his circular
swimming pool. If the pool has a diameter of
13.5 feet and fencing costs $6 per foot, how
much will he spend?

C=T1T13.5
=13.5 (3.14)

= 42.39

$254.34

42.39 () =

14. Ellen has two pizzas left after a party. One is
whole and one has been haif-eaten. The
whole pizza has a radius of 7 inches. The half
eaten pizza has a diameter of 20 inches.
Which piza has a greater circumference?

A: €= 211 B C=3 (2m0)+20
=1y (3.\4) = 10(2.14) 420
=43 in " 5(.4in

e Wl pi \
g réater ag"ciay%&hv?égma.
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

AREA OF
A CIRCLE

Tre omewnt of Space

FORMULA:

occupied bou a Cirdle.-

A=Tr2

Find the area of each circle. Use 3.14 for pi.

1. I
A= T o)
= Q| (3.14)

{26434 yd*

2.

@)

A=TT (5)*
= 25(3.14)

o

» ;
=

H

3

~

A=TT(3)* A=Tr (13)*
=a(3.4) = [L1(z.14)
=|28-2b 42 =[520. bl km?

;3 3

p=T(1.5)7 A=1T (1.2)%
= 50.25(3.14) = .44 (3.04)
Jevswd | pemend

® Gina Wilson (All Things Algebra®), 2018




As T (4,357'
=g 44 (3.14)

= [58.0580 #+2]

A= lio-4)*
=108.10(3.14)
339.0224 in}

—
—

SEMICIRCLES

Find the area of each semicircle. Use 3.14 for pi.

) 10.
12cm @
A= '7"_""' (In* A=:T (2.5)2
= & (144)(314) =% (b-25)(3.14)
72(3-14) = 3,425(3-14)
= (22603 em? | =[.g125 M2

APPLICATIONS

11. A table in the shape of a circle
has a diameter of 6 feet. How
much fabric is needed to make a
table cloth if it hangs 1 foot off
the table all the way around?

(p=gF+)

A= (D
= | L(3.14)

=[Bo24 #12]

12. Jane has a circular garden with a
diameter of 14 feet. If one bag of
fertilizer covers 30 square feet,
how many bags will she need to
cover the garden?

A= T (8%
= (319
= 720040L

2009k . 4,.q

20
\Thass |

© Gina Wilson (All Things Algebra®), 2018
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Name;

Date:

Unit 7: Measurement (Area and Volume)

Homework 3: Area of Circles

** This is a 2-page document! **

Directions: Find the area of each circle or semicircle. Use 3.14 for pi.

2,

A=Tr (k)2 A=T(2.5)*
R = J2.25(3.14)
=[I3.04 in2 2o Sbsap

3. y 4
A =TT (1m)? A=T(3.2)?
= 7_25(3.114) = 10.24 (3.44)
=50.41 (3.14) = (025(3.14)
=[168. 2874 inz =[19b2.5m*

N
w
=

T 015)2

L
<
3 (2.25)(3.)4)
3.5325 42

A=

non

S,
@

A=% 1r(s)?

=2(29)(2.14)
= 3q 25 le

‘ © Gina Wilson (All Things Algebra®), 2018




8cm

N

A= T@)*
=% (Ld) (314

= {100. Hg cm?®

10.

L

—
341t

A—:é‘n"(ﬂ)z
= +(280(3.149)

11. Diana is painting a circular mural on her wall.
Her mural is going to have a diameter of 7
feet. How much wall space will she be
painting?

A= T [ 3 5)2
12.25 (3.14)
2. 465 %

12. Mrs. Vickers is covering her student work table
with chalkboard paper. The table has a
radius of 3.8 feet. How much paper will she
need?

A=Tr(3.8)%
= 444 (3.14)

=I5, 341 £42

13. Maggie is creating a cushion for a circular
stool. The stool has a diameter of 1binches.
If she needs fabric to extend 2 inches all the
way around the cushion, how much fabric will

she need? (D:zo)
A= (10V?

A = 100 (3.14)
R=|3H inz

14. The Roberts Family is getting an inground
circular pool with a radius of nine feet. The
company needs to dig out an extra three
feet all the way around the pool to have
room for plumbing. What is the area of the
grass that will be removed?

=)
A= (12)?
=4 52.10 'p'f‘ﬂ

15. Marcus ate one-half of a pizza with a radius
of 7 inches. If the pizza has 180 calories per 16
square inches, how many calories did he eat?

A= T
=% (ua)( 3.4
= 10-93 In2

WA3 _ b . lx= 135474

X w/ |X= 8054625 cal

16. Bob needs to buy a cover for his above
ground pocl. The poolis in the shape of a
circle and has a diameter of 18 feet. Pool
covers cost $0.75 per square foot. How much
should Bob expect to spend on a pool
covere

A =tra)?
= 91(3.14)
= 25434 #+*

264.34 (0.75)

© Gina Wilson [All Things Algebra?®), 2018



Name: Math 7
Date: Per: Unit 72 Measurement (Area & Volume)

Quiz 7-1: Area & Perimeter of Plane Figures

Find the perimeter and area of each figure.

1. 2, 1. p=_11.Lbom
cm ' O
® 2. P=_25.1 £+
18.8 cm 7ft . 29 ‘P‘*’z
P:Z(zo)-\vz_ug,g) P:%.\'\”]‘HO .
"(15 2) (2.0) A= “\2' ( IO')(EJA) 3. P= 4Zma
fr=(le. 4= 525mi%
4. P=_50.51n
. L t 4-_11AHin>
émi U
l3.9ir\j%in
18.5 mi :
154 12 7.6in
S+ 17.94 1¥.
P=b+11 > P= 20+ %1 17-Lt+ 139
A=3(1N8)0) A= (13X(20+7-)
5. It cost Randy $515.20 for new carpet in his bedroom. If the room 5. # 2.20
is 11.5 feet wide by 14 feet long, what was the cost per square
oot . Hrolls
A=11.5 (14) 5152 _ 5 4

6. The crime scene with dimensions below is being taped off. If each roll of tape is 50 feet
long. how many rolls are needed to tape off the scene?

549 ft p=US+51.34 25. b + 54.9
we 25.6 ft
' 176 -8
L] —_— =
513 ft 50 2.530

© Gina Wilson (All Things Algebra®), 2018



Find the circumference and area of each circle. Use 3.14 for pi. 7. C= 50D. 2'-] .(’_-|-

C=2T7% A=_200 9 £+2
‘ =T B o c-_9.42in
4=_1.0L5in%
9. c=_2(.7128 £+

7.
YW CF2T s 4= 42,4528 $*
A =T (15)* 10.c= 12.52 mwm

4= 508.U8 mm?%

Find the circumference and area of each semi circle. Use 3.14 for pi.

9. 52ft :_'-2 (211'5,7_) + 10.4
@ A= 3T 2?
° 0= (21T1¢) +3L
36,,707 A= "‘iTT“ﬂ)z

11. Macy has a circular pool with a diameter of 18 feet. If she swims 11. 2206- 0% 'H'
around the pool 4 times, find the distance she will fravel. .
0= 2711 9 12. 125 mi?
- 5l52L4) = 220.08
=1g(2.14)
= Slp. 52

12. The maximum distance that the light on a lighthouse can reach is 20 miles.
If the light can rotate 360 degrees, find the total area that it can light.

A= T (20)*
= 4p0 (3.]4)
= 1250

© Gina Wilson (All Things Algebra®), 2018



Name: Date:

Topic: Class:

Main Ideas/Questions | Notes/Examples

COMPOSITE | A fqure that can be Stparated into
FISURE rgions Hyt ave basic plane figures.

To find the area of a composite figure:

AREA OF A @ | Breck the figure apart into shapes with areas you can find.
(squares, rectangles, parallelograms, triangles, trapezoids, circles, semicircles)
COMPOSITE

- @ | Find the area of each of these shapes.
FI9URE

© | Find the sum of these areas.

Find the area of each figure. Use 3.14 for pi when necessary.

EXAMPLES | 124 A= 12(9) = |og
A, =5 UMD = Y2

A= 108+ 42 = \50¢42

A=1(5) = 35
14m A= % (A)(1+17-8) = 1ID.25
A=35t10.25 :\ﬁs'%mj‘
* ' A= L (1)(a+1s) = g4
| ulm Ay= % (b.B)(18) = H8.15
A= 84+ 43.15 =[13275 in?)
) A, = 9% =g
fo= 12(24)= 2383
9in Ag = 2 (24) (1) =24

A=gl+asr94=[153 in2

© Gina Wilson (All Things Algebra®), 2018



Y A= % 12)(28) = g

| [N A2= Zozsl-lvoo
@ |2 pL =L (M) =gy

4 ft

7#t = 1 8+4o0 + 4 ={052F+7-'_

A= 240i0) =240

Az = 2 B304) (12)% = 22¢.0%

A= 240+226.08 =Ew.08 cma

A = 3149)(5)2 = 118.5
A, = S012)(8) = 4g

A= 1<z.s+48=ilzu.5 mZ

8. The perimeter of the square in the figure below is 24 inches.

A= 314 (2)* =28.2p
A= 34 (3)% = 28.20

As= bt =30

A= 2826+28.20 + 3k 442.52in?

APPLICATION

9. Mark is having his driveway paved. A diagram of his drivewc_y is shown
below. If the company he is using charges $3.50 per square foot, how

much will he pay? A= q(21.) = 241.5
27.5 ft
A, =35 (L)(1241) = 84

TaaAz™ bli2) =72
A=241.5+ g4+ 72 = 403.5 £42

40%.5 (2.50) = Fl"“Z.ZZ]

9 ft

© Gina Wilson (All Things Algebra®), 2018



PERIMETER & AREA OF COMPOSITE FIGURES

Find the peri d area of gach ﬁgure for p_i wflen necessory
. PERIMEIER Col T ARER
] . —
Smi P=5+2.84 77+ 10:2 +7+12 A =3 (5)(12)

Az A4(7)
= (5.8

12 mi

A= 30+ 5.8 = [95.8 mi

P= 2(8) + 13+ 19 +12 A= Z(D(3.9)

=|botm =213
A, = 502 (14419
=98
R=27.3+ 198 =|225.3cm 4
P=3013.4) +18+ 15 A= 1 s)
-.-‘13.25&0[ | =|l5
A= S (18)1)
:qq

A=1U5 +99 =E(,4 gdz}

P=2018)+3(8) +27.7 | A= 15(®
= lzD
=811+

A,= 72(8) (19.7+8)
=z |10.¥

A= 20+ 110.9= 1230.844’-
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ks PERIMETER @ T[T S ARER
5.
p=S2z14) (10) + Ai=s (12)(10)
b +12 = Q[l
6t =[5a.4 wm ] Az= % (3.14)(10)2
=157
A=9u+167= |253 kit
) P=2 - 2(3.44) LI3) + A =35 (10)(8+20L)
¢ + 2(13.6) =170
- A, = F(31(13)*
= . m
115.82 gl

A=110+ 245.23 =|H35.33m

8in

P=2(3.44)(3) + 12
+ 2(8)

A, = 1208
=9y

A, = 31)(B)°
= 28.2

A= 004 2%.2b =|124-20Lin?

20 yd

P= 5.203.44) (1)
+ 2(20) + 14

={15.qz yd

A= 3 (3.4) (D>
= 1093

Ay = 20012.8)
=250

A= 1,93 t+ 250 ={32,.93Ud]
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PERIMETER & AREA OF COMPOSITE FIGURES YV« |

Directions: Find the perimeter or area of each composite figure. Use 3.14 for pi.
Use your solutions to navigate through the maze. Staple all work to this paper!

Find the area: Find the area: Find the area:
45m 12m

q124.26 m?]

405.62 m /

Find the area:

£

(349.86 m,

Find the area:

Q
} 40.25 m ’ Y 102.6 m 118.06 m? / 143.5 m? )

Find the perimeter:
P :
8m ém
454 m A
4 _
\5"\ L I0m
@ /| nm
Find the perimeter: Find the perimeter: Find the perimeter:
Im _ 162 m
28.L0
9m
7.5m J
24m 72m
18m
12m
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Name:

Date:

Per:

Unit 7: Measurement (Area and Volume)

Homework 4: Composite Figures

** This is a 2-page document! **

Directions: Find the perimeter and area of each figure. Use 3.14 for pi when necessary.

A=2032)= 26492

© Gina Wilson (All Things Algebra®), 2018

Figure Perimeter Area
1. -
g mm _ P=18+ 10414+ 204 | A= 180D
24 +19 ot i
:,‘Il'-l mwm| Az=Z(32)(10)
=250
A= 342+ 2506 =|593mim*
B e P=4+9+3.84 U+ | A= L(Y)
a1 O WA+ 3(4) +2+ 2. = v
Ml .. |8mi ,
. = . l-l)
mt @ =\ 4.8 m Ay bl
2j._,___.38mli_ B’,% -‘J = 24.4
T @ < A3=l4(ll.00 = H1.b
1 ]
9 m A=lb+ 24.4+47.b =] 88 mi2
> P=g.1 +8.) + A =3 (D
S(2 %) =29
P =% +8.1 12580 | A= T T
= 25.12
g alliats A =28+ 25.12= [53.12y4*
= J2= A2
3 221234 |
P= 2(z4) +4(8.4) A, = 24(55)
2 =132
# N84 =|§l.L in
>—J'E> py= 24(5.5)
" = 132




P:5,1—t—‘—i+ b +§
184z

= 5744 + b + 2(8)+

-
-

A, L (L) (4+8)
=30
A,= L(8) =48

A3: '-:;_Tr((o)z

(21T 0)

=L5° ik A= 3b+4g+ 5652 =
¢ P=3+3.9+5 .8+ A=z T (10g) 2%
3,6 +8.2+4+3(2mWitw) = 4808125
A, = 7 (24(3)
35in = 3""3q +5.2 + 3.5 - 3.0
+ 8.2 45.495 -
A3:8,2(3.5) =281
Z129.295 in
A=37. 108125 in?
7. The zebra enclosure at the zoo needs a new

layer of hay throughout the entire enclosure.

the field used for his cows. How much many
How many square metesof hay do they need? yads® of fencing will he need?
-\ -
j"ii'nf‘“' i P: (00 +%° + 60ﬁ
6 om 3 (217 40) +bo
+2(43)
1 m -
g X :
Az =435\ I, =[G1l. b *MI
A= lio(?,o) = 1200 !
Az =5(N)(1)=43.5
2 A=1381Tm?
9. Aaron is having rain gutters installed aroun

8. Farmer Johnson is putting fencing up around

the perimeter of his roof. How much will he
spend if he is charged $3.50 per foot?

P= 2(9.b) + 2((5)

7.5 ft

G 4 204) +2(2.8)
""" ] +2(4.5) +15
15 ft =!g(,,2 _(:+|
""""""" 451t
Lg 15 ft
[

10. Ashlyn is having new hardwood flooring
installed in her living room, kitchen and dining

room. If the flooring costs $4.25 per square
foot, how much will she spend?

4.25 (134.5)

|7 ¥550.3

10.3 ft

18 ft
A= % (0)(®) = 24

A= 5(1.9)(12418) =112.5
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Nome:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

A o
SHADED REGIONS

To find the area of a shaded region:

@ | Find the area of the entire region.

0 Find the area of the unshaded region(s).

° Subtract the area of the unshaded region from the area of the entire
region.

EXAMPLES

Find the area of the shaded region. Use 3.14 for pi when necessary.

1. Aowiside = 12L8) = qb
A--‘nsid‘ = 3.5(“) =3l'5

o _ _-\ in?
Shl:ia' = qu-31.5 =|{lHSin

'8in

Agr = Z () (N +22D)
= 2713

m A= T ()5
L = (oD

SA=273- 40 =(213 2]

sh=351-153 .80 = [203.14 yd?

© Gina Wilson (All Things Algebra®), 2018



Aowt = TN (3)2 =225 2,
Ain = 5 (X3 =9

SA=28.20 -9
’U""z‘” km?

Aot = 142 =19
A'“\: é (T" L")L)
14 ft = 193

SA=19b-16-93

114.074+2|

Apt = T(k)*
= 113.04
A']r\: T (4)1
=50.24

SA=2.04-50.24 =|2.8m2
Apg = 2w (5)*

= 3"1‘25
Ain=T (25)2

= 19.025

r=2.5cm

SA=39.25-19.b25

= EUZSCM

APPLICATION

. Arecreation complex is placing grass around a 78-foot by 27-foot

tennis court as shown below. If one bag of grass seed covers 200
square feet, how many bags are needed?

45 Ana = TLIRYZ + 18 (30)
i = 3825,3(,
fin = 18(27)
= 2100

SA= 3825.30- 210k = 17114.30$2
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Name:

Date: Per:

Unit 7: Measurement (Area and Volume)

Homework 5: Area of Shaded Regions

** This is a 2-page document! **

Directions: Find the area of the shaded region. Use 3.14 for pi when necessary.

28 fi

Aot = 28(10) = 28D
Ain =2200(10) = 10D

SA= 2 -16p = ll@oHZ ]

Asct =22% = UgY
Ain = 10(22) =220

SA = yg4- 220 = [2p4 m2

Apa = 2 (1:5)(10t 1Y) =915
Ainc "iTr(Zv)z = .13

Sh= 1.5~ 14.13 =[83.37in?

Angd =TOD?* = G544
Ain=T (D" = 153.8b

Sh=U15.44-153. 36 = [Hy1 58 mm?)

5.

22cm

Ain= 3 (4.0(8) = 1LY

Sh=82.8-lu4 =[lolo.4 om2

Aact= 1A(18) = 342
A= 5 (13)18) = 0T

Sh = 342-11 = 225 y42|

© Gina Wilson [All Things Algebra®), 2018



6.7 mi

Aot = = T (I5)?
= 353, 25
Ain = §U43) = b

SA=353,25-11b <|237.25yd?

SA= 2.8~ lL.klole = {10.1894 mi*

9. Lisa just put down a circular area rug in her dining room. What area of the floor is not covered

by the rug?
At = 20% = 40D

Ain = T ()% = 200 .90

Sh= H00-2009b
=199.04 £42|

10. James has a sidewalk that runs through his flower garden. He needs to put more mulch in the
flower garden. If one bag of mulch covers 4 square yards, how many bags of mulch will he

need? 1
- And =75 (2.25)(3.5+4.5)
= 33
4.5 yds
A = 1(8.25)
B = 8.25

SA=2 -8.25 = |24.75yd?
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Name: Math 7
Date: Per: Unit 72 Measurement (Area & Volume)

Quiz 7-2: Composite Figures

Find the perimeter and area of each figure. Use 3.14 for pi when necessary.

1. 5
L PEuredrHe A3 1P 201N
- 4=_119.4ip*
A= 5 (b)) = 384
V7B U2 235 2P 5lm
9in <« Yin Ay = A(a) =g 2
?in | 3. P= 12‘4\!0’
2. 4= 2892 qo!z
55m P = 2(55)% 2(L) + 2(14) '
é6m 4, P= ,2408 Cm
"‘D‘: ®) A, =3 14) = 42 4= 524 em?
: + 14m
; A,z 1H(L) =84
55m M
— ?2m—
3. The diameter of the semicircle below is 12 yards.
223yd P=Z(20) + 223+ +11+

vl L

®

O uya AT 3O 25652

Az S5 ()11 +22.3) = 233.|

11 yd
4,
® f= 210 + 2L21) + 2 (D)
Hiesn A= 0)* = 314

Az=10(2]) = 21D

© Gina Wilson (All Things Algebra®), 2018



5.15

5. Greg is replacing a countertop in his kitchen with a new granite $ 5D
countertop. The dimensions of the countertop are shown below. 5. L, lo?ﬂ 2
If the granite he chose costs $175 per square foot, how much will

it cost?
/ 5.5 ft A‘:: 2(5.25) = 10.5
A A= 5(2) (L+3.5) =95
4 ft
Az= 2(3.25) =b.S
@) (325t 3~ A
A= 26.5
2" 2 20.5(115) = Hb31.S
:ind the area of the shaded region. Use 3.14 for pi. . 4. 2R '8(0 .F.+7-
| Ao =T (D* =153.86 ’ X
= 32 ewm
.= - b5 7. A= _3
5H A in 13(5)
8. 4=_50.88 mm?
7 20 cm And =% (20)(20 +44) = LHoO

Ain = T L) = 314

12cm 12cm

Aont = 5(g) = 120
Ain,= 2T DT 22512 Fq

Ain, = ()11 =44
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

What Is
PRISM?

A prism is a 3-dimensional figure with
two congruent and parallel faces,

bas¢s

called

The other sides are called
lateral faces

Prisms are named by their bases. Classify each common prism:

Tupes of
PRISMS

P e
T T
B
\k_\\.

Square

Rectangular
Prism

Prism

Tangular

Cupe Prism

SURFACE

The Surface area of a prism 1S the Sum

AREA

of e avea of We baseas and laterad faces

NETS

A net is a 2-dimensional composite figure that shows each face of
a 3-dimensional figure. Think of a net like “unfolding” a 3D figure.
Nets are useful in finding the surface area of a prism.

Label the dimensions on the net using the dimensions given on the prism.
Then, find the surface area of the prism using the net.

SURFACE AREA
0f 2 Rectangular Prigm

| WITHNETS: |

1 12
: gl A=90
: g ... g
Sl el s 51 A= o ER"‘O A=W i A=HO 5
12 ft \2
A= |3
12
SA= 0+ 40+ At L0+ AL+ Yo

392 $12
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R=1s b
__________ 25m > > i» o
Wkl S ik W ol
16m o: ¢ {9 &
é6m [
L5 |A=15 (25
b

SA=Ho+I5+qu + 15+ 40+ 9L =

302m*

Label the net using /, w, and /4. Use the area of each section to write
a simplified formula for the surface area of a rectangular prism.

SURFACEAREA
0f a Rectangular Prim

| WITHAFORMULA: |>

£
L | A=th | h
| Tlw
A=Lw {2 iR=lw i E
N A= th
L

Formula: [g“ =2(ow)4 Z(Lh) ¥ Z(W‘\S]

Find the surface area of each rectangular prism using the formula above.

3.

18 ft

......

St
SA=2(5)3) +2 (3 1g) + 2(5)ig)
=30+ 10 + 1§D
4&8H1§

3ft

4.

/L ___________________________ /]1.5cm
[—' 8cm

SA=2(32)(8) + 2(32(15)+
2(g)1.%)

=512+ AL+ 24

= L(49)

i

5. & 4
' 174m
_______ i |7in
7in Zin '&"].;-;"""6.5 m
SA= 2N + 2(1) + 207 [SA=2ANXL 5 )+ 201174 +
2 (L5){11-4)

=152 m2]
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Name: Unit 7: Measurement (Area and Volume)
Date: Per: Homework é: Surface Area of Rectangular Prisms
Directions: Find the surface area of the rectangular prism using the net.
1. 2, 40cm
: Sin _ i 132em g =528
,5' """ '* SA - 30 -\’2'5“.30 1:- ------------------- -~ 3 lzo_;' 528‘:;
5in - cm
6in +25+ 30+ 30 40 120 +33 6+
S R - 13.2 36
. ] \sA= moin® A=528
- = A= = .2
G, | AR e
po i 30 i30 (30 A =528 3.2
Azls | e
= g,‘fb A=120 3
13.2
Directions: Draw a net or use a formula to find the surface area of the rectangular prism.
3. 4,
12t 17 cm
17 cm
et L ...
Fommmeees T/ 25cm
: 12 ft .
= 2 2 -
SA 2 LL:QLLI\% Y 202012 + SA =20DUD + 20710 25) + 201 (%)
= - 2
= (, C144) = & QL4 2 578+% g0+ 8D =) Z21€em
; ¥ 2(2)(8.2D E
: . : 12 mm
: 8.2in :
| Z13.0+ 5570+ 32.8 | | e
L ...... - - 2 | 2 10 mm
2in “11pZ.1b in =
e { ___J SA= 2(303(12) + 2(30)(i0) + 202)U0
=120 tboOo+ 240 = 1560842
7. 8.
8yd . & 2yd 6 2
[~ :
20 yd ‘ 13m
SA = 2(20)(8) + 2020)(2) + 2()(2) J—
= 320+ 80 + 32
| SA = ZUDU3) + 2L 1D W)+ 203)(12)

=]432\|0l7-

-
—

32+ 44 15

bizm?
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Name:

Topic:

Main Ideas/Questions

Notes/Examples

SURFACEAREA
0f 4 Irianqular Prism

e A triangular prism has \

faces.

e To find the surface area of a triangular prism,
find the sum of the area of the bases and the

lateral faces.

r\

bases and M@ML lateral

Use the net to find the surface area of each triangular prism to the left.

Lo . A= 3515

SA=32+44 + 30

8in fin + 2(35.15)
65|n A SA=183.5 in2
o™
11in

2.
SA= 4847108 + LD
8 10 + 2(40)
12.8 yd a\=‘\?_’___ _ 3
< e Sh = [2u4.8yd
6yd | b | A=Y¢ A=k0
2.8
8 A=Hp Io
8vyd 10yd ©
3. 9
A= 12V SA= 45+ 3 + 45
9 km i +2(12.0)
VAN gl 1 EV
|
7km Y o km A=4s |5
q
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10cm A=150 | 15 SA=150+120 + 90
15¢cm A=54 + 2(5Y)
N i \
12em|  \ 2 = Hg em
54 L
9cm A=90 |9
0
Without a net, find the surface area of each triangular prism by finding the

area of the bases and lateral faces.
Area of Lateral Faces:

Area of Bases:
10 ft A=H (10)(4.8) A, = 10(1) =1lo
i = 24 Az"'lo(”):‘HD
*4, ________ 1 Az = 5(I) =55
T ] 2024) = g
10 ft
Total Surface Area: 4 8 -+ 1|04 104 55 = 323 £42
Area of Bases: Area of Lateral Faces:
A= L (15)(8) A=35(¢) = 2%
- 2 B5)= 52.
_ = (4D A, =15(3.5) 5
eyd Ag = 11(3.5)=59.5
by 35vyd | 2(LD) = 120
Total Surface Area: |2()+ 28+ 52.54 59 .5 = ZOO)JAZ
Draw a net or organize your work to find the surface area.
Bases Latevad :
20m A= 3 (1IDH07) A,=20018) = 3040
- =102 A, =20(18) = 3060
Az = 20(12) = 240

18 m

o 2(102) = 204

17m

12m

N4 m

© Gina Wilson (All Things Algebra®), 2018

SA=2044 300 +3LD+ 240 =




¥ Answers

oncv&uh on bf

may vawy

for nets or
wsms 3

e0® SUPFAC E AREA WITHNETS @ © @

Directions: Complete the table by drawing in either the net or prism, then find the surface area for each prism.

NET

SURFACE AREA

& PRISM

...............

1.
42|n

SA=2(H5)(4.5) +
2(4.5)(4.5)
2(4.6)( 4.5)

= (p (20.55)
= 121.5in%

23 ft 10 ft

.
.
-
-

15 ft

B: A= g (23)(1.2) = 128.%
2(123.8) = 257.¢

A, = 15(10) =150
A = 13(10) = 180
A3 = 23(I1b) =230

R Bt st il KB

SA={817.b £+2

7cm

SA=2010(7) + 2(3)7)
4+ 2(n)(3)

=154+ 4Z + bl

202em?*

23 m

8m

[[+]

2.2

SA = 2(2)(10) + 2(10)(23)
+ 2(8)(23)

=0 Yo+ 308
ABLE mZ

\
9 mm

B: A= 3 (2)03.1) =131.55
2(137.88) = 215.)

A,<15(a) = 135
A2= 21(a) = 189

- _—e— - e m e W W e e "

SA={170-1 mmZ|

© Gina Wilson (All Things Algebra®), 2018



PRISM NET SURFACE AREA
B:A=J-j )] (§) = I
M 8 ft 201k = 32
3 v iy A, =15(8) = 120
518, é 15# : : Ag=319)" 120
5+ Ag= 8157120
s :8f1 ES = Ry 2 T F
o< sA4392 $43
SA=2( L) (L) + 2(L)29)
i . +2016)( 20)
y Fom
: bip [T = 712 + 2404 240
; P
. in I S
20in H écm z|552 cW‘z,
20um
12 ft
ot SA=2(12D013) +
g 2()1g) + 2(13(13)
|
g {( 2 e 2t = 3212+ 432+ Y g
18ft =|[12Z12 £42
12 ft
/'7" SA= 2(2)(4) +2(2)ks)
4i
------ o +2(4)(.9)
b.5n 4 = b+ 2L¥52
ZinN—— = (a4 in2
" in s QL} n
% A=% (30N 2)= 390
4 3omm 30mm), 30 mm 21390)= Tso
Ziowm omm | A1 = 30020) = Q00
Aq = 20(30) =900
ﬂ 3omm Az = 30(30) 00
30 mm — - -
&= 3‘j§_{Mm"
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Name:

Date: Per:

Unit 7: Measurement (Area and Volume)

Homework 7: Surface Area of Triangular Prisms

Directions: Find the surface area of the triangular prism using the net.

k B:A=4(s)w) =10 |2 wsem  BATH(USNIS) = 3315
2l10) =20 2(331.5)=115

A= u5)=10 19em\[7" M py = 3g0ay: 122

A,=29)=8 Ag= Hs(1Q)= 865

5 Az = 2(.4)=12.8 Az=1a01 = 30)

r y -4 ', a_ -
5 § 19

/ SA=50.8in% = 2013 om?

Directions: Find the surface area of the triangular prisms below. Use a net if necessary.

10cm 8cm B:A=% (8)(a) = 3L

. —_— S L
2(36)="2
?cm
cm A,.'-"H.IO) =90

3
12
Az =12Lm) = 12D

|SA= 3bZom?

4.

10 yd
8 yd
d

B: A3 (L) =24
2(24)= 48

S5yd

A= 5018) =50
A,=5lL) =30

SA= Wgyd 7]

=4 " B:A=4% (4.8)W) =135 % B A=517.5)(18) < b1.5
18m
s 2013.5)= 2 o 2671.8) = 135
a5 A =l01.8)= 82,5 7sm—p M A = )= T
Azl = LL tm Az= U= Uz
Az= 4.5 = H4.5 Az= 18D 120
[sh=225 347 SA= 450 m2]
7. : B: A% (20)i00=100 & A gA=E (1)) =33
8mm/ 13mm 11in / 1\10.2in
i 2(160)=200 33(2) = Lk
0 N 5 > o \ .
10 mm ﬁ&tﬂ \\‘ 7 mm A|= 20(-,) =l4o ",ﬁ"-,\‘“ 6.5in A| - \Otzlb‘S): bll .3
20 mm ﬂzs B =A) ¢in” 7in A=\l (L8)= .6
Az = 81 =50 Az = 105D = HE.S
Sh= 487 mm?| [sh = 249.31n*
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

What I 4
CYLINDER?

r

A C&g\ino\er IS O prism
with  circular bases

o223
]h

THENET
of 3 Cyinder

Think about the shapes that make up the n(e'r% cylinder. Draw the net.

> The bases are _Circl€s

)

and the lateral surface is a _{ fcjm\g ! ’

SURFACE AREA
0f 3 Cylinder
FORMULA

The surface area of a cylinder is the sum of the areas of the bases and lateral
surface. Label the dimensions on the net below, then use the net to develop
a formula for the surface area.

b—— 2zt ——

What is the area of the bases?
A=2TTr?
h What is the area of the lateral surface?

A= 2ir-h

Formula for the surface area of a cylinder:

$A= 2Mr2 + 2Tvh

EXAMPLES

Find the surface area of each cylinder. Use 3.14 for pi.

1.

8cm

18cm

-———-

Bases A= 21 (g)2
=128(3.14) = Up|.92

Lat: A= 21 (&) IR)
= 288(3.14) = Qo432

SA=401.92+ 904.32 ={(1206.24 On

© Gina Wilson [All Things Algebra®), 2018



> 14 it Bass A= 2T (3)*
E -3 = 18(3.4%) = 5652
( (j/ Lad: A= 2 (3)(4)

=334 = 3.0

A= 50652 +263 .70 =325 291
3.

SA= 2T (D2 + 277 (1) (H)
E --------- i S = AQ(314) + 56(3.14)

= 207172 + \115.84
=\‘+€3.50 mm?

7m SA = 2TM(4.5)2 + 27 (4.5)(7)
|

= 40.5(3.4) 43 (3.14)
l s 12717 +l‘17-82 k

=324 99m*

- SA= 27T (12.6)% + 2T (iz.5)(9)
in
T = 312.5(3.14) +225(3.14)
. = 9%[.25 +7106.5
25in

=|1g7.75in%

6. A tennis ball company packages three tennis balls in a cylindrical-shaped

plastic container as shown below. If the diameter of each tennis ball is 2.6
APPLICATION

inches, what is the minimum amount of plastic needed to make the container?

N SA= 21 01.3)2 + 27TL1.2)(1-8)
Y Y ’ 2.bem =2 . + '
NANZANN. 3.38(3 ) + 20.28(3.14)
e TRem =10.L132 1 b3.6T42
"'U"’- 2924 emz

© Gina Wilson (All Things Algebra®), 2018
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Name:

Date:

Per:

Unit 7: Measurement [Area and Volume)

Homework 8: Surface Area of Cylinders

Directions: Find the surface area of each cylinder. Use 3.14 for pi.

10cm

-
.

18cm

SA=2 T Uo)2 + 2T (1o)(1R)

= 200(3.44) ¥ 300(3.14)
= (2§ + 1130.4

=_l‘l58.'-l cm“

2,
40 ft

SA= 2TN{20)2 + 2T (20)C12)
=800(3.14) + 4go(3.14)

= 2512 + 1501.2
=[Hoi9-2 42

o SA = ZTT(14)* + 277 (14)(5)
=202(3.M)+ M0(3.14)
= 122088 + 434. 0

SA=2TI(3) %2+ 2 (3)a)
= [R(3.14) + 5H(3.14)
=552+ lLa.6l

9m

- 2
Sin =1170. 48 in2 gaauL
5. P! " 6.
SA= 2T(13)* + ZTT (13)(50) 21 mm
= 338(3-14) + 1300(3.14)
50 cm = |0bLl-3Z+ YOR2
- 30 mm
P =|5143.3Z em SA= 21z * + 2T (2N(30)
X =$22(3.14) + 12L0 (3.14)

= 27L4.48 + 39506.4
£125.88 mm*]

241t

SA= Z(2L)* + 2T (26 )(2H4)
= 1252(2.14) + 124%(3.14)
= 4245.28 t 3913.72

=81y 3

— 7yd —

SA = 21T(3.5)2+ 2T (3.5)(1)

= 201.5(2.14) + 49 (3.14)

={z30.74 yd2 ]

© Gina Wilson (All Things Algebra®), 2018



Name: Date:

Topic: Class:

Main Ideas/Questions | Notes/Examples

VOLUME Volume is The amesunt of space that a
3-dimensionat  figue  takes wp.

The volume of a prism is the mduc,:t of the
VOI.UME _Ovex  ofthe_base  and heigh:i’ of the prism.

of Prisms

height, A

height.h{ senaanancs ‘

area of base, B

P tite—

area of base, B

Formula:{ V= B-h ]

Find the volume of each prism.

Rectanqular Prism

N - |6ya
EXAMPLES 7vd 5va 21 mm 8 mm
B \ 3.2mm
=7 = :
Lk B=2| (3.2)
V= 03(0) V=019
= 373 yd 3| = 537.4 mm3]
3 4,
E 4Mm | meeermmnencennn. s3m
: 31.5¢cm 9%"“ 1
R V= 4(9%) (5%)

= 4 (9.125)(5.75)
V= 1404 (31.5)
[= 614 cm3 = 200|.8"15m3/

© Gina Wilson [All Things Algebra®), 2018



[rianqular Prism
EXAMPLES

5. é
N R
5in 2 107 K 9 ft
B=3 (8)(12) = 30 T e
B= & (W)(10.1) =85
v=-_3oqc.3 'g) V=85.6(9)
il Tio.4 £43|
7 8. 19 cm
/X SNES
55m %
14m
7m 11em
=
V=3 (73(5-5)(\"0 vz .l2.. (IN(1.2)(C ‘q)

APPLICATIONS

9. The bed of a dump truck has dimensions shown below. The truck is
delivering salt to a city in preparation for a snowstorm. If the city needs
800 cubic feet of salt, how many trips will the truck need to make?

V=4 (8)(L) 800 _

B

= 1z 3 gz = v

7/ 1 [ VOO L

6 ft

8 ft Etrips
10. Bethany has a bottle of perfume in the shape of a triangular prism.
What is the maximum amount of perfume that the bottle can hold?2

— \=3(2.2)(2.5)(4.5)
- =[12.2715 in3
2.2in A l————"’J
2.5in

11. Jon's inground pool is in the shape of a rectangular prism with
dimensions shown below. If the pool is only 80% full, find the amount

f waterin th .
of wa Ier in e5 [::o \= I5(30) (g,;)
e | = 2415

30 ft -
. 21115 (-80) = (1950 #43]

© Gina Wilson (All Things Algebra®), 2018



Name:

Date: Per:

Unit 7: Measurement (Area and Volume)

Homework 9: Volume of Prisms

Directions: Find the volume of each prism.

V= 12(2)(5)

...........

1.
94|n

l.
82m

v=(8.5)(11)(9.25)

120 mm3 =|8(4.875 in3
3. 4.
: 22.6cm 14m “!iI.::“
65cm__ A “ 8m
10 cm
12m

V=05 (10)(22.6)

=144 em3 L2 m3
= m
5. 6.
10yd 9ft NG ft
| 7 I2-'2-yd
7‘2'y
10 yd

V=3 (7.5) (103(10)

vz £ (12)(3.4)(H)
=8l F4+3

7. Margo just bought a new fish tank. How
much water will the tank hold?

¢
- ]
8in | femcecemmciniiaas =

6in

V= 2(25)(b)

=[1200 103’

8. Lance ate a large slice of cake. If there are
8 calories in every cubic inch, how many
calories did he eat once he finished his slice?

. in
4in
7.2 in\ Sin

V=3 ()L(5)
= O

Lo (=]480 040 |

© Gina Wilson (All Things Algebra®), 2018



Name: Date:
Topic: Class:
Main Ideas/Questions | Notes/Examples
Just like a prism, the volume of a cylinder is the ‘DVDA Uet of the

VOLUME
0of CYinders

OVeA  ofthe 1DASE  and hf/i@lu" of the cylinder.

height, A

Formula: L\[= B-h J

area of base, B

*Recall that the formula for the area of a circle is PF- Trz

EXAMPLES

Find the volume of each cylinder. Use 3.14 for pi.

b 2. 5in
<
?in
7m
4m
B= T (W) B =TT (a)*
V=50.24(1) v=254.34 (5
=|25].,8 m3 =l1z71.71n
3 4.
- 30 ft
=Tz (158) v= TH(12)%(30)
= 1760314 = 43200 3.14)
300204 yd3| =[1356H.8 £43/

© Gina Wilson (All Things Algebra®), 2018



s. 8.
16cm -
J_ —10 mm—i
- 2
et V=TT (5)2 (1)
=784 (3.14) = 100¢3.14)
=L2L“""“” c”fj ={314 mm3 |
b ) . 8 ft
13m I?ll:ﬁ
\=T(3.5)*(8)
- 2
=29.25(3.14) =fig)4. 4242
=al. S"—ISmJ

APPLICATIONS

9. Martha stores cereal in the cylinder-shaped container shown below.
If the container is only 40% full, how much more cereal can she fit in

the container? ( LO)
> \=TR)* (8
= 22(3.14)
B =100.48in3
2in

100.4% ( -b0) = \lio.zgz in® more Cereay

10. Around bale of hay has dimensions shown below. If the hay weighs
approxima tely 11 pounds per cubic foot, find the weight of the hay.

N="TT (2.8)2 (1)

4 ft

I =25 (3.14)
T =785 43
785 (1) =8 b3.5 pounds

@ Gina Wilson (All Things Algebra®), 2018



© Gina Wilson (All Things Algebra®), 2018

wgl

ws| Wil — EMN\‘
s 9'528'5 ) 528'S1) sv e
we
wel wes wé
W ez
(rw ove'si) / e 082'SE _ns G’ U 06€°EE o GSMJ
w S w oz
= ov - | . ot
wel W p8E Wzl e wel|
el e
W 929 nE ove W 086 W 0SZ'p e W 00£°C W 0981
we .
( 089°L swepe't |00 A W $9°2769°S
w iz “ 5 :
m 12t N e T
; w9y
~ \ IQ J
e é (sw ooz'y ) W 060'9 cW ¥8°C08
w ||
=g
wyl T wgp Wz w gl
v wegl | WIZ ns_ 9£'51Z'S _ wol @ \!
m b we 7 g
weg m weg T W0z a
ulg

é

jsodnd sjy} of dioMm [|p 3)dDys *SZDW By} YBNOoIY} SJ0BIADU Of SUOHN|OS INOA a5
"AIDss@dsuU uUByM Id JOJ ¢ |°E 8BS “IBpUljAD 1O wisud Y03 JO SWN[OA SY} pu suoyaaliq

j9ZBH SJ19PUINL9) B SWSLI] JO 9WN|O A




Name:

Date:

Per:

Unit 7: Measurement (Area and Volume)

Homework 10: Volume of Cylinders

Directions: Find the volume of each cylinder. Use 3.14 for pi.

. — 40in—

S

\ =TI 20)2 (29)

2 2.3 ft

T
1.2 ft
A

V= T (0-6)* (2.3

= 11Loo (3.14) =0g28(3.14)
=E(0H7-q iY\E_’ =YZ—. 5999 2 'P'}j
<> 4 6cm
16 cm
Sin l
V=TS () V= TO(L)
=200 (3.14) = 284 (3.14)
[vz8in3 =(1205.16 em 3
5. 6.

V= T8 2( 12)
= 2700 (3.14)
[ =848 mm3 |

12 mm

e
4.2m

\/::TT(%)Z(“LZ-)
=312(3-14)
=11g.LAZm3 |

7. Mary bought a new flower vase. How much
water will the vase hold?

-
V=T (4.5)2(24) m»
= 597.25(3.14) =

=1g4z Absin?

8. Emma is making stepping stones using the
mold shown below. How many cubic units of
concrete will she need if she wants to make 8

stones? A S
V=TT (2)
=9g (314
= 307112
307-72(R) = [246].7 b in3

@© Gina Wilson (All Things Algebra®), 2018



VOLUME & SURFACE AREA

SURFACEAREA: The Sum of the ovra of +Hhe loases  and
\atevral Laces.
VOWME: The ampunt of space that a 3-dimengionad
P\'aduum take wp -
IMPORTANT FORMULAS

Rectangular Prism Triangular Prism Cylinder

area of base, B area of base, B , ;reo of base, B
SURFACE AREA: SURFACE AREA: SURFACE AREA:

_ Sp = 2g 4 A& of SA = 2
SA=24w+24h + 2wh =28 ¥ \ateral cida A=2ZTy & 2Trh
VOLUME: VOLUME: VOLUME:

Ve B.1h V= B-h V=B-h

SURFACE AREA EXAMPLES

Find the surface area of each figure using the net.

1. 2.
[A=a5 |5 12 ft AW | B3
: T /13 A
iaem W ia =200 # 12 9\ 12
12 i b

N S i i< 6 ft
Scm S F WP ir-ylg-ai
19cm =10: A=q5 _A=10|5

EA = gb2cm? [SA =282.4 ‘P"’g
Find the surface area of each figure. Use 3.14 for pi when necessary.
3. 4.
3m _ 8m 20 mm
16 m :
4"‘--.- /
7 7 mm

SA=213)(1v) + 2(3)(E) ¥ 2L1)(18)

_[_ gom? ’ SA=2000) +2(7)(20) + 2(7)(20)
=il»5?mm’-f

© Gina Wikkon {All Things Algebrd®, LLC). 2018




5.
8 ft

5.
5.5ft
Bm 2lm
SA= 2(%°8:15) + 8(5.5)+17(5.5) SA= 2(F-115-18) + 18(21) + 2113)
+15(5.5) + 1b.5(21)
=340 42 :.[ZO'{.S mj
7. 8.“ 8m
! 14in
26m
éin
= 2
h izmb) u SA-zn‘ua)z + 2Tr(13)(8)
=(153.6 in? =[714.99mz
VOLUME EXAMPLES

Find the volume of each figure. Use 3.14 for pi when necessary.

9. 4.5yd 10,
' v=(Z)(2 )
=1 (HS)(Q) e i :
= 2l emN\__ <{1870.5 cm
17yd -EX%_‘S\'d ? 3 102 cm
1. 12, .
21in !’ V= ﬁ(lg)“ﬂ(“) . ’ J
18in 15in =(2835in , i38mM, 125m
6.5m
V=% (3.8)(15) (2.5)
=lio'g75mq
13. — -
5.5cm 8 ft
28 ft ,
Vg lao) V=TT (92(8)
LA em? - [Ha23.52 £33

© Gina Wilson (All Things Algebia®), 2018



Name:

Date: Per:

** This is a 2-page document! **

Unit 7: Measurement (Area and Volume)

Homework 11: Volume and Surface Area

Directions: Find the surface area of each figure using the net.

2,

z 8cm e
- Aaa®luz | . I i L
I T AL T I AT M ot o A8 B35

q.4 ":'0: L aem A=24 Y . -
aleihe 35| A=119 8
.4
SA=H(39.48)+ 2(1-b) SA= 84+ 2(19) +2(24)
=193 2100* =|1370em 2
3. =qb 4.
Aty AL == €.
: e 12,5 ft
2om 0" D %o 2o o ’ A= 314 12.$
AN g — @
A= A=50.24

Sﬁ=2(m%+ 120+ 140
=12 m2

SA = 2(50.24) +314

HI4. 4 $42

Directions: Find the surface area of each figure.

Use 3.14 for pi when necessary.

S.

A
F

SA= 2()(W) + 2(8NL) +
2(LX W

204 cm?

cm

m

6.

12y
é

]
2vd

SA=2(12X(5) + 2( 12XL-5) +2(5)(65)

syd

341 yd?

7.
18.6in ﬁ 4.8 in
N ‘
3lin

SA=2 (%248 18.6) +H2(12.L)
+ H2031) +42(24.8)

258,08 in?

8.

8.2t

9 ft

3ft

15 ft

12 ft

SA=2(%-15-8.2)+3(15) +3(12)
+3@)

23| £42

© Gina Wilson (All Things Algebra®), 2018



D

SA = 2T(12)%+ 212X b)
= q04.32_ + 452.10

=U,350.4x \;d"j

10.

( @,9.8m
2 :

30m

SA=2T( 9%+ 21 (2.8)(30)
= p03.13(2 + 1846-32
={2449.4512 m2

Directions: Find the volume of each figure. Use 3.14 for pi when necessary.

7.4 cm

6¢
7.4cm
V= 20 (23)(Q) —_
= 4.4
210 yd 3 V= ((7.4)(7.H)
=1 328.56 cm3
13. 17 in 14 21m h 12m
V 3in "'—é‘\
________ \ 9m
8in N
15in om
V=3 (15) () (3) V= 5 (25(a)(Q)
=|Igoin> ={1p12.5m3
15. 16.
T 6 ft
41 mm - #5ses

l

V=TT (20 5)*(34)
- [448L5.89 mm? |

34 mm

. 14.3 ft

V=TT () (14.3)

=\ Lbly. 4712 3

© Gina Wilson (All Things Algebra®), 2018




Name;

Date:

Math 7

Per: Unit 7: Measurement (Area & Volume)

Quiz 7-3: Surface Area and Volume

For questions 1-2: Find the surface area of each figure using the net.

1« s
A= 12 43 15 1.
: -2 e
S N LJest AR A=135 (& A=I3S 2.
N N
15 ft 48| p=12 3
4,
5.
é.

500.44+2
180.6 m?
125 mym?2

280.L in?
422.2¢m 2
370.8 $+*

For questions 3-7: Find the surface area of each figure. Use 3.14 for pi when necessary.

4 oo ﬂ 10in
6'"4.6in

3.

Smm

"2 mm

SA= 2(1.8)(2) + 2(2)(5)+ 2(5)(1.5)

= 320 +20 +7s

5. 10cm

13.7cm
l4cm

é6cm

SA=2:(% - 1-13.7) + o)
+ 10014 + L(10)

16in

SA= 2. (% - 1e-4-¢) + Io(w)

+ €.5(b) + 1L(L)

e S

SA=2T (L)% + 2T (L)(y)

© Gina Wilson (All Things Algebra®), 2018



32m

0

SA = 2T (10.5)% + 2T1( 10 5)(32)

B

2%02.45m?

For questions 8-12: Find volume of each figure. Use 3.14 for pi when necessary.

8.

20.5 mm

8.4 mm

3mm

V=3.4(3)205)

10.

18.2 yd
16.8yd

.......
.

12,6 yd

7 yd

V=35 (16-8)(12.4)

12. 2in

5in

.
'
[l
'
.
'
‘
‘
s
.
[
.
v
I
[

41cmt 7cm

V=5 (4.1 U6 ()

1. & >

23 ft

—18 ft—

V=T(a)?(22)

V=T (8)2(2)

9

10.

11.

12,

S5lb-b mm?

229. e 3

140.88 yd

5849.82 432

157 in?

® Gina Wilson (All Things Algebra®), 2018



Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

SURFACE

AREA
ARRICatIoNs

RECALL: SA is the Sum of +he Sideoaveas.

1. A birthday gift is placed in the box below. What is the minimum amount of
wrapping paper needed to wrap the box?

SA= 2(DI0.5) + 2(108X{(,)
+ 2(N( k)

Zin| 16in )
— ﬂo’l in“ of paper\

2. A wedge of cheese is in the shape of the solid shown below. What is the
minimum amount of plastic wrap needed to wrap the cheese?

SA= ’2.["2’(5)(123 + 12016) + 13C10)
+5(10)

12¢cm

S5cm

10cm
13¢cm

{1

360 Mot plastic wrap

3. Wrapping paper is rolled around a hollow cardboard tube with dimensions
shown below. What is the minimum amount of cardboard needed to

create the tube?
SA=2T(18)24 2T (18)(2H)
24 in
§ IEL =E‘—lO, 21in?of (‘ardlooar;i]

VOLUME
APRICatIoNs

RECALL \ {5 +he product of the base araa + heigat-

~

4. The dimensions of Samantha’s coffee mug are shown below. If she filled
the mug leaving a ¥z inch gap at the top, how much coffee is in her mug?

V= T(1.8)* (3.5)

4in =135,4,016 in * of CDF(-‘CJ
1.8 in
5. Find the amount of water needed to fill three-fourths of the fish tank below.
V=30 (12)(18)
i = 480

Az (ugo(019) = [A8060 in? of watcr

® Gina Wilson (All Things Algebia®), 2018



é. Kayla has a triangular planter box with dimensions shown below in the
corner of her garden. How much soil will she need to fill the planter?

V= $-4-4°2.5

20 §4+° of S‘“U

Y—

2.5 ft

MIXED
PRACTICE

7. Solid concrete blocks with the dimensions shown below are being used to
build a retaining wall. If the concrete weighs 95 pounds per cubic foot,
how much does one block weigh?

V= (18)(18)(3)
s = 0.12 43

0
'/"" ......

um 0.72(4a6) = [923.4 pouMSJ

1.8 ft

8. The dimensions of a glass candle holder are shown below. How much glass
was used to create the candle holder?

SA= (D% + 21m(2)105)
= 4(3.14) + 42(3.14)
10.5in =L\LH'44 in

— 4in —

9. Charlie is building a skateboarding ramp with the dimensions below using
2' by 4' sheets of plywood. What is the minimum number of plywood sheets
needed to build the ramp? 2

(g
SA=2(%-4-b) + 3.5(4) +3.501:2)

sot 7.2 ft + 3.5 (L)
i & = 84.2042

éft

2= 0525 |l sheets

10. The dimensions of Lily's swinnming pool are shown below. If one cubic
foot of water is approximately 7.5 gallons, how many gallons of water can

the pool hold at maximum?
V=T (2)*(5.5)
= 24%0.88 £4+3

5.5 ft

1
r

241 —— 2486 38 (1:5) = |13451. b 9a0 |

© Gina Wilson (All Things Algebra®), 2018




Name:

Date: Per:

Unit 7: Measurement (Area and Volume)

Homework 12: Volume and Surface Area
Applications

** This is a 2-page document! **

1. Nick is baking fudge. What is the minimum
amount of plastic wrap needed to cover th

piece of fudge?
4in
""" " L8k

$4 in? of plastic wmp

SA=2(L)1§) + 2(L)(H) +2(1€)(4)

2. A jeweler designed a new box for earrings.
The box is to be covered in leather. How
much leather will be needed?

is

3in 3.2in

-~
ll‘i

i2in ™.
ml
4in

2in

SA=2(3-2-4) +
3(2)+ 3-2(2) + 4(2)

284 in? of lfa'l’htr;l

"

3. Mary Kate is wrapping a vase for a gift. What

is the minimum amount of wrapping paper
she will need?

o SA =2T(2)* +

2D 02)
12in
=1175.84 in? of
T Wrapping paper
k,.g' pping pap

4. Mrs. Hanson is filling containers in her bakery

with flour. How much flour will fit into two of
the containers?

8in

3in

6in

V= b(2)g) = MY in?
2 (U4 = 1288 in® of flowr

5. Vivian is filling a cooler with a sports drink for
her soccer team. What is the maximum
amount of liquid the cooler can hold?

AN
Rt V=T (6 5Y (21)
 =52785.95 ip3
2lin C.
ot liquid
RN X
— 13in —

6. A construction company removed a large

portion of dirt to begin building a bridge.
How much dirt was removed?

9m ém
7m
5m
10m

V=% (6)10) (1)
=[270 w3 of dirt|

T

© Gina Wilson (All Things Algebra®), 2018



7. Beth is staining a barn door. If one pint of
stain covers 562 square inches, how many
cans of stain will she need?

8. Luca filled four jars with sweet tea. How
much sweet tea did he have in total?

V=T (1.L)?(5.2)

600in = 4].499 U% in3 s2in
SA=2(H8)(3) + e, |
2(L00)(3>+ ] "
2(142) (Loo) o
= 182,082 in> 4). 44908 (4)
E , n 3

. {7 572107 of ren]
ez \324 Cans of
sfain,_

9. Travis wants o store as much as possible in
his attic. Find the total amount of storage
space he has available. 6 fi

l]ft‘

18 ft

11 ft

30 ft

V= 2 (1g)(L)(30)

=EUZ-D £43 of space

10. A steamroller is pressing asphalt. What is the
area that will be covered by three
revolutions? 9t

/ / 3 ft

A= 21T (3)(4)
= 54 (3.14)
= |b9.50 42

164.56 (3) = |S0s.Lg £4 2

11. Marci is designing a new popcorn bag for
the movie theater. How much paper will
she need to create the bage

10.6in

................

3in

= g.2(3) + 2(30(10.0)
+ 2(8.2)(10-b)

=Ew..ocl in?2 of PaPC’d

12. Nate rented a moving truck. How many
3.375 cubic foot boxes can he fit in the
trucke

15 ft
’ 7.5f
7.5 ft

v= 1.5(1.8)(I5)
= g4y3.15H3

3.1
3.375

= K'zsb boX €S

© Gina Wilson (All Things Algebra®) and Lindsay Perro, 2018




Unit 7 Test Study Guide Nome:

(Measurement: Area & Volume) | Pate: Per:
Topic 1: Perimeter and Area of Plane Figures
Find the perimeter and area of each figure.
2. 3.

-“.J:E‘:’C"‘ 0. : e \ e, 18 1t [ 20 ft
20cm J-(_ )“3) 14 ft
A==Z(2D
A=10.b(5%8) A-%(lﬁ)(llz-w-l)
Perimeter Area Perimeter Areqa Perimeter Area
L4-Jom 120cm > 34.2m ().U8m? 1ol £+ 504 £42

4. Pete walked around a park three times. How
many miles did he walk?2

5. Allen High School is getting new sod for their
football field. If sod costs $1.35 per square
yard, what will be the total cost?

P=lAmi 120 yd
A=120(53"%) ' salya
= 400 yd? E
36 A) =|20.Tmu
(400(135) = € gD
Topic 2: Circumference and Area of Circles
Find the circumference and area of each circle. Use 3.14 for pi.
2(3.4)(2.5) (3.14)(9.5)* 2(3.14)(23) 3.14(23)*
Circumterence Area Circumference Area
BA.uu ip 283.385 in? 14444 ww lbbl.0b mi?

8. New lights are being installed around the
outside of a fermis wheel. Lights cost $0.75 per
foot. What is the total cost of the lights?

¢ =2.(3.14)(10)
=439.6 £+

439.4 (0.75) =‘;332q.1§

9. A farmer has a circular shaped field. Fertilizer
costs $0.27 per square yard. How much will
the farmer spend to fertilize the field?

I A=Tk5)?

= 1320Lb.5 yd?

12206.5 (-217) :
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Topic 3: Perimeter and. Area of Composite Figures

Find the perimeter and area of each composite figure. Use 3.14 for pi when necessary.

Figure Perimeter Area
P=20p+3 +5 + | AT T (b$)(22)
bg + 4.8 = .48
Ag = T (1.8) (L8 +9.8)
=|28-3 om = 29.84
A="1.48 +39.¢4 =\47-32cm
P=gl2me4 s i+ ) a3 T2 = 5203.14)
= 3(3.44) + 34 = 10048
=25 12 %39 A,= 4L
] y = 19
udzy A=100.48 + 164 =|264 4¢yil ¥
Pz (zmH4) ¥ +8+13| Av= TTY 2 - ‘g—(—g.ﬁ)’—
= U4(3.4) + 21.3 = 25.12
280+ 21.3  |A2® E@WE)
=90

=1239.2b m
- A=25.12 %, =|12l.12zm?

13. An aquarium is putting up new railing around the otter exhibit. How many feet of railing does
the aquarium need to instali2

— 651 —

P=4(1. 1D+ 2(3)+%.2 szt

-,-\ir;.m of m'cliri[ -

b— 16t ——

14. The playground at a park is getting new wood chips. Wood chips cost 4yd
315 per square yard. What is the total cost of the wood chips?

Az Z L0449 +20) = 194.7)

= 4(26.8) = |02 294 1(5) 255yd
A Z ESL)QED .80 14.4yd

4.5yd

A =147 +102 = 2904.7 ya?

15yd
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Topic 4: Area of Shaded Regions

Find the area of the shaded region. Use 3.14 for pi.

Apt= 5 (05)(+15) = 34.5

Ain: % (8)Ls) < 1U-25

SA= 4.5 - Iy.25

-
-

b3

25 in2]

16.

Aoy =T (5.158)*

33.0025(3.19) = 103.81(25
A;n: 'li (‘l2)(bﬁ) s

31.174

SA=10381we~ 3114 =

SA=24.15-3.34

7.07625m?/

17. Melissa is sewing a flag for her class. How much gray fabric will she use?
- Apct = 3:3(16) = 24.15

Ain= 30U2) (154 06.H) =%.34

=.|(,.4I+‘+Z}

Topic 5: Surface Area of Prisms and Cylinders

Find the surface area of each figure using the net.

I — - 19,
‘*M - .2ft 4.2 A 9.2
H[ 18 >i»ini® Ao | e | AL B
LA NRRRREN 5t =t
4in N§N§N§ 12 W
4in ' ' : N
1%
v
Surface Area: 2(][,)-{-4(‘17_) = 320 in 7-’ Surface Area: 2[1.}2_)-{-2““‘) +{D = ‘ 23(4 'H 2

Find the surface area of each figure.

20.

Sh=2(26)(7) + 2(20X(3-4)
+27)(3.4)

21. é6cm

7cmg
12cm

4cm

SA=2fs - 4 -L) + 4(i2) 4102)
+7012)

2. :
( (‘)\ 15in

Sh=2T 15"+ 277 i) (4 §)
= 460 (2.14) + MYo(R.44) |

48in

sutace Area:  L{{, 3 (, m N

surface Area: ZL{.O m7‘

Surface Area: Sq 31.{ (e iﬂ Z

© Gina Wilson (All Things Algebra®), 2018



Topic é: Volume of Prisms and Cylinders

Find the volume of each figure. Use 3.14 for pi.

23. 24,
i |22m 9.5 ft
22m b
22m
""""""" 2t
V= (2.2)(2.2)(2.2) 6t V= W(2X95)
Volume: IO-V“VZ m3 Volume: || _p+3
25. 26. | 24yd—

16in

10in

oA v

12in
V=32 (1)1 (10) V= TOUDXHE = 1152(3.14)
Volume: q(lo |n3 Volume: 3(‘,,-" 28 \Id 3

Topic 7: Volume and Surface Area Applications

27. Ron is building a wheelchair ramp out of
wood for his business. How many square
feet of wood will he need?

1.5 ft

5 6 ft

SA= 2(2-1575) 4 5(6) + 4-blb) +200)
=| 170 42 of wood

28. Gavin is building a box for his legos. How
many square inches of cardboard will he
need?

10in
= 4in
8in
SA=18)(H) + 2( $)(16) +2(H)Io)
= inZ of

29. The paint in the can below weighs 0.05
pounds per cubic inch. If the canis full, find
the weight of the paint in the can.

V=TT (3.D*¢)
= 012.48 (3.14)
= 200.3872 in3

F—6.8in—

290, 3872(0.058)

4.5193b ppunds

30. Wanda is making a raised garden in her
backyard. How much dirt will she need to fill
the garden?

V= 12.5(k)(2)
=[50 &3 of ditﬂ

® Gina Wilson (All Things Algebra®), 2018



Name:;

Date: Per:

Unit 7 Test

Measurement (Area & Volume)

1. Find the area of the figure below.

17.5¢cm

11.4cm

A=175(9)

A= 151.5cm?

2. Scott drove from Franklin to Kenton, Kenton
to Maryvale, then back to Franklin. His route is
shown below. If his car gets 20 miles per
gallon of gas, how many gallons of gas did

he use?
Kenton

. 18.5 mi
é6mi

Franklin 17.5 mi Maryvale

A. 1.95 gallons
B. 2.10 gallons
C. 2.625 gallons
D. 2.80 gallons B

3. The area of arectangle is 344 square inches.
If the rectangle is 16 inches wide, find the
perimeter of the rectangle.

4. Kacy has four windows at the peak of her
living room. She needs to replace the glass
on the shaded window. If glass costs $2.25
per square inch, how much will it cost to

344 = b L replace the window?
215 ¢ y _, 'l'
) 34in__ e T 36in
P= 2(1L) ¥ 2(215) D/"/J L\”\r“n\"\”l l
30in
A=Z (30)(2043¢)
A. 67 inches A. $1,570 =g40
B. 72inches B. $1,650
C. 75inches C. $1,890
D. 80inches C D. $2,050 C
Find the circumference of each circle. Use 3.14 for pi.
— c-zi)
W = 8(3.14) > el
C= 25.128&+ C=72.22in
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Find the area of each circle. Use 3.14 for pi.

7. 8.
A=TT(3)* A=TT(1-2)*
=a(3.14) = 51.84(3.14)

 hd

A= 2820 bl A= 142, 77 7ben

9. Find the area of the figure below.

A, = 5 (20)(%+23)
=310

8in

Az 5 (L)
=5

F 23in +46in- .
A= 3kl in*

10. Find the perimeter of the figure below. Use 3.14 for pi.
c=3(2m8) = 25.12

=215 =314

k 16 m

P=72.52m

11. The science museum is roping off a section of the floor for the new dinosaur exhibit. How many
feet of rope do they need?

p= U3+ R +20+HU+ U3 + 23

20 ft

631t 2)8 4+

© Gina Wilson (All Things Algebra®), 2018




12. A wooden stage at the theater is in the shape shown below. The theater needs to seal the
stage. If one can of sealant covers 75 square feet, how many cans are needed?

AL (2(3a+27)

391t
= (a3 A. 9cans
- 1 B. 10cans
Ays 2T @) (©) 11 cons
127071 D. 12cans
$20.17
A=%20.11 25~ =035k | A

Pot = MU16) =224

14. The perimeter of the square below is 48
centimeters. Find the area of the shaded
region. Use 3.14 for pi.

Aowt = 122 = 144

L 5 = > K
Aip =Z ()T = 4q Ain = TW?* = 113.04
4=1756 m2 A= 3090 cm
For questions 15-14, use the net to find the surface area of each figure.
15. 16.
i A=81s |1 : 12.5 12yd 13.2yd
¢ [20mm ' bl
: : P 11.8yd | A4~
| wigig 2§ L
- TR é‘: P é\: 8yd
12,5 mm B S
7 mm T1|A=819
125

SA<T 2(87.5) 1+ 2(140) + 2(256)

SA= 055 py?

SA =200 Yyd*
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17. Find the surface area of the figure below.

..............

6ft

4.5 ft

SA=2(8XYS) 1 2(3)(6) +2(4.5)(b)

S = TIF {42

18. Find the surface area of the figure below.

‘ 17 km
v 6.5km
8 km

15 km

Sh=2(3°15:8) + 8(b.S) +17(6:5)

19. Find the surface area of the figure below.
Use 3.14 for pi.

18 in
( @Mn

SA= 2T (W) 2+ 2TT(4)(18)
=32(3.)4) + 144(3.14)

S4 = 5524 i

+ 15(6:5)
SA= 380 nt
20. Find the volume of the figure below.
12cm
35cm
oom
V= A(35)(12)

V= 3780 om3

21. Find the volume of the figure below.

68yd ‘ 4yd
e Fa) e
15yd
V=3 (6 $X18) (4)

V= 204y43

22. Find the volume of the figure below.
Use 3.14 for pi.

.
9m

—20m——

V=TT00)2 (4)

V=7282m3

© Gina Wilson (All Things Algebra®), 2018



23. The dimensions of a can of shaving cream are shown below. What is the maximum amount of
shaving cream in the can? Use 3.14 for pi.

5 V=TT(15)%(8)
SN = 18( 3.14)

vl BN 5652 in3

F—3in—

24. A pizzeria vses the container below to package their single slices of pizza. What is the minimum
amount of cardboard needed to construct the container?

SA=2(% - 10-8.7) + 160175) 4 1p(/-15)
+10(1-15)

139.5in3

25. When Rick retired from his company, they gave him a solid glass paperweight with the
dimensions shown below. If glass weighs 15 grams per cubic inch, how much does the

paperweight weigh?

- A. 780 grams

1.25in \{-‘ Ll (Ln( ) 26 ) B. 550 grams

=20 in3 C. 410 grams

_ 4in D. 300 grams
4in 20¢( \5§ =300 D

BONUS: Clarissa made a two-layer cake for her parents' anniversary. The bottom layer has a
diameter of 10 inches and a height of 5 inches. The top layer has a diameter of 8 inches and a
height of 4 inches. What is the total surface of the cake that will be frosted?2 Use 3.14 for pi.

. T SA, =T (W) + 2T (W) = 15092
14 SA, = (5 -TT () +2T1 (8)(5) = 185.20
e
15 SA = 150.72 + 185.20

335.98in>

— —
10
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